3 'b m@ T . .
@ {(::)} Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
4,082 x 1000 = 2,605 x 10 =
3,86 x 1000 = 2,694 x 10 =
4,827 x 10 = 6,713 x 10 =
10,512 x 100 = 7,464 x 100 =
3,93 x 1000 = 9,254 x 100 =
9,962 x 1000 = 3,155 x 1000 =
10,623 x 10 = 4,709 x 10 =
7,843 x 100 = 3,494 x 10 =
4,987 x 1000 = 2,325 % 100 =
5,676 x 100 = 7,728 x 100 =
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?@E J@’ @ Multipliziere Dezimalzahlen mit 10.100.1000

Name: Datum: Ergebnis:
4,082 x 1000 = 4082 2,605 x 10 = 26.05
3,86 x 1000 = 3860 2,694 x 10 =26.94
4,827 x 10 =48.27 6,713 x 10 =67.13
10,512 x 100 = 1051.2 7,464 x 100 = 746 .4
3,93 x 1000 = 3930 9,254 x 100 =925 4
9,962 x 1000 = 9962 3, 155 x 1000 = 3155
10, 623 x 10 = 106.23 4,709 x 10 =47.09
7,843 x 100 = 784.3 3,494 x 10 = 34.94
4,987 x 1000 = 4987 2,325 x 100 = 232.5
5,676 x 100 = 567.6 7,728 x 100 = 772.8
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